0.6 3 1_| 68/06 ! ] .
1 3 1 | 681 AX 1 681 _L310 UL 103
1 3 1,5 | MR 31 L 310 W 51
1 4 1,6 | 691 R 410
1,5 4 1,2 | 681 X AX 1,5 68/1,5 L415 UL 154
1,5 4 2 | 681 XZZ AX152Z| 681,5ZZ | LA15ZZ ULZ 154
1,5 5 2 891X 619/1,5 | 69/1,5 R 515 R1550
1,5 5 26 | 691X 2Z 619/1,522 691,52Z | R5152ZZ
1,5 3 25 | 601X R 615
1,5 6 3 | 601 X2ZZ | | R6152Z
2 5 1,5 | 682 BX 2 | 682 - L 520 UL 205
2 5 23 | 6822Z BX2ZZ | 6822Z L 520 22 UL Z 205
2 5 2 | MR52 L 520 w2
2 5 25 | MR5222Z L 520 ZZ W52 2l
2 3 23 | 692 619/2 692 R 620 R 2060
2 6 23 | 692ZZW23 (619/2ZZ | €922Z R 620 ZZ W32
2 6 3 | 922z AX2 ZZ R 620 ZZ |
2 6 25 | MR 62 R 620 W52 _ &)
2 B 25 | MR62ZZ A 620 ZZ Y52
2 7 25 | MR72 R 720 Y 52 |
2 7 3 | MR722Z R 720 ZZ Y03
| 2 7 28 | 602 R 720
3 7 28 | 602ZZW28 | [
| 2 7 3,5 | 60222 | R 720 ZZ I |
25 6 18 | 682X TAX 2,5 68/2,5 L 625 | UL 256
25 6 26 | 682X ZZ AX252ZZ| 68/252Z | L625ZZ ULZ 256
25 7 | 25 | 892X X25 69/2,5 R 725 R 2570
| 25 7 35 | 692X ZZ 69/252Z | R7252Z2
25 8 28 | 602X 60/2,5 60/2,5 R B25 R 2580
2,5 8 28 | 602XZZW 28 |60/2522 | 60/252ZZ | R 82522 W82
| 25 8 4 | 602X ZZ | RB252ZZ |
B s B 2 | MRB2 [617/3 673 L 630 UL 306
3 | 6 25 | MR 63 ZZ 617/37ZZ | 673 ZZ L 630 ZZ ULZ 306
3 7 2 | 683 AX 3 683 L 730 UL 307
3 7 3 | 6832z AX3ZZ | 683 ZZ L730ZZ ULZ 307
3 [ 25 | MR83 X3 693/003 R B30Y52
3 ] 3 | MRB3ZZ X32Z 693/002ZZ | R B30 ZZ Y 03
3 8 3 | 693 619/3 693 R B30 R 3080
3 8 4 | 693 2Z 639/3 ZZ | 693ZZ R B30 ZZ RV 308
3 8 35 [BaMm B3 B 308
3 9 25 | MR 93 R 930 Y 52
3 9 4 | MR932Z R 930 ZZ Y 04
3 9 3 | 603 R 930
3 9 5 | 603ZZ R 930 ZZ
3 10 4 | 623 623 623 R 1030 R 3100
3 10 4 | 6232z .
3 13 5 | 633 l
3 | 13 5 | 63322 | |




4 7 2 TMR74 617/4 L 740 UL 407

4 7 25 | MR 74 ZZ 637/4 ZZ L 740 ZZ ULZ 407

4 B8 2 | MR 84 L 840

4 B 3 | MR B42Z L 840 ZZ ]

4 9 25 | 684 618/4 684 L 940 UL 409

4 9 35 | 684 ZZW 3,5 |628/42ZZ L 940 ZZ Y 53

4 9 4 | 68422 638/4 ZZ | 684 ZZ L940ZZ ULZ 409

4 9 4 | B49M

4 10 3 | MR 104 X 4 L 1040

4 10 4 | MR 104 ZZ X42zZZ L 1040 ZZ

4 10 4 |B4AM B4 B410 |

4 11 4 | 694 619/4 | 694 R 1140 R 4110

4 1 4 | 694 ZZ 619/4 ZZ | 694 ZZ R 1140 ZZ RV 411

4 12 4 | 604 604 R 1240

4 12 4 | 604 2Z 604 ZZ R 1240 ZZ

4 13 5 | 624 624 624 R 1340 R 4130

4 13 5 | 624ZZ 624ZZ 624 77 R 1340 ZZ

4 16 5 | 634 634 634 R 1640 R 4160

4 16 5 | 6342Z 63477 634 ZZ R 1640 ZZ RV 416

[ 8 2 | MR85 617/5 L 850 UL 508

5 8 25 | MR85 ZZ 617/52Z L 850 22 ULZ 508

5 9 25 | MR 95 L 950

5 9 3 | MR952ZZ L 950 ZZ

5 10 . 3 [ MR105 L 1050

5 10 4 | MR 1052ZZ L 1050 ZZ

5 1 3 | e85 618/5 685 L 1150 UL 511

5 1 4 | MR1152Z 628/5 ZZ | 685/003 ZZ | L 1150 ZZ Y 04
5 1 5 | 68522 638/5 ZZ | 685 2Z L 1150 ZZ ULZ 511

5 12 4 | B5M B5 B 512

5 13 4 | 695 619/5 695 R 1350 R 5130
5 13 4 | 6952Z 619/5 ZZ | 695 ZZ R 1350 ZZ RV 513
5 14 5 | 605 R 1450

5 14 5 | 605ZZ R 1450 ZZ i
5 16 5 | 625 625 625 R 1650 R 5160

5 16 5 | 6252Z 625 ZZ 625 22 R 1650 ZZ RV 516

5 19 6 | 635 635 635

5 19 6 | 6352ZZ | 635 ZZ 635 ZZ |

6 10 | 25 [ MR 106 617/6 L 1060 UL 610

6 10 3 | MR 106 2Z 617/6 ZZ L 1060 ZZ ULZ 610

6 12 3 | MR 126 X 6 L 1260

6 12 4 | MR 126 ZZ X 62Z L 1260 Z2

6 13 35 | 686 618/6 686 L 1360 UL 613

6 13 45 | 686 ZZW45 |AX62ZZ L 1360 ZZ W54

6 13 5 | 686 ZZ 628/6 ZZ | 686 ZZ L 1360 ZZ ULZ 613

6 14 5 |BEM B B 614

6 15 5 | 696 619/6 | 696 R 1560 R 6150

6 15 5 | 696 ZZ '619/6 2Z 696 ZZ R 1560 ZZ RV 615

6 16 5 | 696 A2ZZ 625/0002ZZ ]

& 17 6 G606 R 1760

6 17 B 606 Z2 R 1760 ZZ

6 19 6 | 626 626 626 R 1960 R 6190

6 19 6 | 626 ZZ 626 ZZ 626 ZZ R 1960 ZZ RV 619

6 22 7 | 636 636 636

6 22 7 | 636 2Z 636 ZZ 636 ZZ .




d D B TIPO SKF/ADR GRW NNMB RMB
7 11 25 | MR 117 61717 L1170 UL 711
7 1 3 | MR117ZZ 617/7 ZZ L1170 ZZ ULZ 711
7 13 3 | MR 137 L 1370
7 13 4 | MR137 22 L1370 Z2Z
7 14 35 | BB7 _ 618/7 BB7 L 1470 UL 714
7 14 4 | e87ZZW4 X72ZZ
7 14 5 | 687 ZZ 628/7 ZZ | 687 ZZ L 1470 ZZ ULZ 714
7 17 5 | 897 619/7 697 L1770
B 17 5 | 897 2Z 619/7 ZZ | 697 ZZ L1770 2Z
7 17 8 |BTM B7 B 717
7 19 6 | 607 607 607 R 1970 R 7190
7 19 6 | 607 2Z 607 Z2Z 607 22 R 1970 ZZ AV 719
7 22 7 | 627 627 627 R 2270 R 7220
7 22 7 |s2722 627 ZZ 627 ZZ R 2270 ZZ RV 722
7 26 9 | 637
7 26 9 | B6372Z ,
8 12 25 | MR 128 617/8 L 1280 _ UL 812
8 12 35 | MR 128 ZZ 637/8 22 L 1280 ZZ
8 14 35 | MR 148 L 1480
8 14 4 | MR148ZZ 688A/142ZZ L 1480 ZZ |
8 16 4 | 688 618/8 688 L 1680 UL 816
8 16 5 | 688 2Z 628/B ZZ | 688/003 ZZ | L 1680 ZZ | ULZT 816
8 16 6 | GBBZZWE 638/B ZZ | 6BBZZ L 1680 Y05
8 19 6 | 698 619/8 698 L 1980
| 8 19 6 | 698 2ZZ 619/8 Z2Z | 698 ZZ L 1980 ZZ
8 19 7 | BBM B8 BB19 |
8 22 7 | 608 608 R 2280 R 8220
8 22 7 | 6082ZZ 608 ZZ R 2280 ZZ RV B22
3 24 8 | 628 ] |
8 24 8 | 62822
| 8 28 9 | 638
| 8 28 9 | 63822 i ]
) 14 3 [ 679 L 1490
9 14 45 | 67922 L 1490 ZZ
9 17 4 | 689 618/9 689 L1790 UL 917 |
9 17 5 | 689 ZZ 628/9 ZZ | 689 ZZ L 1790 ZZ ULZT 917
9 20 6 | 699 619/3 699 L 2090
9 20 6 | 69977 619/9 ZZ | 690 ZZ L 2090 ZZ
9 20 7 | B9IM_ B9 B 920
9 24 7 | 609 609 609 R 2490
9 24 | 7 | 6082z 609 ZZ 609 ZZ R 24980 ZZ
9 26 8 | 629 629 629 R 2690
9 26 8 | 6292z 629 ZZ 620 ZZ R 2690 ZZ
9 30 10 | 639
9 30 10 | 639 ZZ




10 15 3 | 61700 61700 6700
10 15 4 | B1700 ZZ-2RS | 61700 ZZ 6700 ZZ
10 18 55  B10M B 10 F 10
10 19 5 | 61800 61800 6800 L1910 6800
10 19 5 | 61800 ZZ-2RS | 61800 ZZ | 6800/002ZZ| L 1910 ZZY 05 | 6800 ZZ
10 19 7 | 63800 ZZ-2RS 6800 ZZ L1910 ZZ 63800 ZZ
10 22 6 | 61900 61900 6900 L 2210 6900
10 22 6 | 61900 ZZ-2RS | 61900 ZZ | 6900 ZZ L 2210 ZZ 6900 ZZ
10 28 8 | 16100 16100

10 | 28 8 | 16100 2Z [18100 ZZ
12 18 4 | 61701 61701 6701 |
12 18 4 | 61701 ZZ-2RS | 61701 22 6701 22
12 21 5 | g1801 61801 L2112 6801

12 21 5 | 61801 ZZ-2RS | 61801 ZZ | L2112 2Z 6801 ZZ
12 21 7 | 63801 ZZ2RS _ 63801 ZZ
12 24 6 | 61901 61901 L2412 6901
12 24 3] 61901 ZZ-2RS | 61901 ZZ L2412 ZZ 6901 2Z |

12 30 B | 16101 16101
12 30 B | 16101 22 16101 ZZ

[13 24 6 | AY 13 TNH | ]

[ 14 25 6 ' AY 14 TNH | |
B ] 2 4 | 61702 61702 ' 8702
15 21 4 | 61702 ZZ-2RS |61702 Z2Z 6702 ZZ
15 24 5 | 61802 61802 6802
15 24 5 61802 ZZ-2RS | 61802 ZZ 6802 ZZ
15 24 7 | 63802 ZZ-2RS 63802 ZZ
15 28 7 | 61902 61902 6902
15 28 7 | 61902 ZZ-2RS |61902 ZZ 6902 ZZ |
17 23 4 | 61703 61703 6703
17 23 4 | 61703 ZZ-2RS | 61703 ZZ 6703 ZZ
17 26 5 | 61803 61803 6803 |
17 26 5 | 61803 ZZ-2RS | 61803 ZZ 6803 ZZ |
17 26 7 | 63803 ZZ-2RS 63803 ZZ
17 30 7 | 61903 61903 6903

[ 17 30 7 | 61903 ZZ-2RS | 61903 ZZ | 6903 ZZ

17 32 8 | Y17 Y17

[ 17 32 8 [ Y1722 Y1722

20 27 4 | 61704 61704 6704 |
20 27 4 | 61704 ZZ-2RS | 61704 ZZ 6704 ZZ
20 32 7 | 61804 61804 6804

20 32 7 | 61804 ZZ-2RS | 61804 ZZ 6804 ZZ
20 32 | 10 | 63804 ZZ-2RS 53804 Z2Z
20 a7 9 | 61904 61904 6904

| 20 37 9 | 61904 ZZ-2RS___ 61904 ZZ 6904 ZZ




25 a2 4 | 61705 61705 6705
25 32 a4 | 61705 22 61705 ZZ 6705 ZZ
25 37 7 | 61805 61805 6805
25 a7 7 | 61805 ZZ 61805 ZZ 6805 ZZ
25 37 10 | 613805 ZZ - 63805 ZZ |
| 25 42 9 | 61905 61905 6905
25 a2 9 | 619052z 61905 ZZ 6905 ZZ
30 37 | 4 | 61706 61706 6706
30 37 4 | 61706 ZZ 61706 ZZ 6706 ZZ
30 42 7 | 61806 61806 6806
30 42 7 | 61806 Z2Z 61806 ZZ 6806 ZZ
30 42 10 [ 613806 ZZ 63806 ZZ |
a0 a7 9 | 61906 61906 6906
30 47 9 | 61906 ZZ 61906 ZZ 6906 ZZ
35 44 5 [ 61707 61707 6707
.30 44 5 | 61707 ZZ 61707 ZZ 6707 ZZ
35 a7 7 | 61807 61807 ' 6807 |
35 47 7 | 61807ZZ 61807 ZZ 6807ZZ
a5 55 10 | 61907 61907 6907
| 35 55 10 | 61907 2Z 61907 ZZ 6907 ZZ
40 50 6 . 61708 “Ie1708 6708
40 50 6 | 61708 ZZ 61708 ZZ 6708 ZZ
40 52 7 | 61808 61808 6808
40 52 7 | 61808 ZZ 61808 ZZ 6808 ZZ
40 62 12 | 61908 61908 6908
40 62 12 | 61908 ZZ 61908 ZZ 6908 ZZ
45 55 | 6 | 61709 61709 6709 |
45 55 6 | 61708 ZZ 61708 ZZ 6709 ZZ |
45 58 7 | 61809 61809 6809
45 58 7 | 61809 22 61809 ZZ 6809 ZZ |
45 68 12 | 61909 61909 6909
| 45 68 12 | 61909 ZZ 61909 ZZ 6909 ZZ
50 62 6 | 61710 61710 6710
50 62 6 | 61710 ZZ 61710 ZZ 6710 ZZ
50 65 7 | 61810 61810 6810
50 65 7 | 6181022 61810 ZZ 6810 ZZ
50 72 12 | 61910 61910 6910
50 72 12 61910 ZZ 161910 ZZ 6910 ZZ




Microcuscinetti flangiati / Flanged bearings

d D Df B TIPO SKF/ADR GRW NMB
1 3 3,8 1 F&81 FAX 1 | F681 LF 310
1 4 5 1,6 | F691 ' RF 410
15 4 5 1,2 | FEB1 X FAX 1,5 F68/1,5 LF 415
1,5 4 5 2 | F6B1X2ZZ FAX1,52ZZ | FE8BN1,52Z | LFM52ZZ
1,5 5 6.5 2 | FE91 X FAX 1,56 ZZ | FE9/1,5 RF 515
1,5 5 65 | 26 | FE91 X ZZ F6191.5 ZZ| F69/1,5 ZZ | RF 515 ZZ
1,5 6 7.5 2,5  FG601 X RF 615
1,5 6 7.5 3 | FE01XZZ RF 615 ZZ
[ 2 5 61 | 15 | F682 FBX 2 F682 LF 520
2 5 6,1 2,3 | F682 2Z FBX2ZZ | F6B2ZZ | LF 52022
[ 2 5 6,2 2 | MF52 LF 520 W 52
2 5 62 | 25 | MF52ZZ LF 520 2Z W 52
| 2 6 75 | 23 | F692 F692 RF 620
2 6 75 | 23 | Fe92ZZW 23 F692ZZ | RF 620 ZZ W 32 |
2 6 7.5 3 | Fe922Z F6922Z RF 620 ZZ
2 6 7.2 | 25 | MF62 RF 620 W 52
2 7 8,2 25 | MF72 RF 720 Y 52
2 7 8,2 3 | MF722Z | RF7202Z Y 03
2 7 85 28 | F602 B RF 720
2 7 85 28 | F602ZZS28
2 7 85 | 35 | F6022ZZ RF 720 ZZ
25 | 6 7,1 1.8 | FB82X FAX 2,5 FE68/2,5 LF 625
2,5 6 71 26 ' F6B2XZZ FAX 2,5 ZZ | FEB/25 ZZ | LF 625 ZZ
2,5 7 85 | 25 | FB92 X F69/2,5 RF 725
2,5 7 85 | 35 |F692X2ZZ F69/25ZZ | RF725 ZZ
| 25 B 95 | 28 | F602 X F60/2,5 RF 825
25 | B 95 28 | Fe02XZZW28 F60/2,5 ZZ | RF 825 ZZ W82
[ 25 8 9.5 4 F602 X ZZ RF 825 ZZ
3 6 7,2 2 | MF63 F617/3 F673 LF 630
3 B 72 | 25 MF63ZZ F617/3 ZZ | F673 ZZ LF630Z2Z
3 7 8.1 2 | F6B3 FAX 3 F683 LF 730
3 7 8,1 3 | FEB3IZZ ~  FAX3ZZ | Fe6832Z LF 730 ZZ
i | B 92 | 25 | MF83 FX 3 F693/003  RF B30 Y 52
3 8 9,5 3 | F693 F619/3 F693 RF 830
3 B 9,2 3 |MFB3ZZ FX3ZZ F693/002ZZ RF 830 Y 03
3 8 9,5 4 | FB93ZZ F639/3ZZ | F693 ZZ RF 830 ZZ
3 9 102 | 25 | MF93 RF 930 Y 52
3 9 10,2 4 |MF932Z RF 930 ZZ Y 04
3 9 10,5 3 | FE03 = RF 930
3 9 10,5 5 F603 ZZ2 RF 930 ZZ
3 10 11,5 4 | Fe232Z F623 ZZ F623 ZZ RF 1030 ZZ
3 13 11,5 5 | F6332ZZ




Microcuscinetti flangiati / Flanged bearings

4 7 8,2 2 | MF74 F617/4 LF 740
4 7 82 | 25 (MF74ZZ F637/4 ZZ LF 740 ZZ
4 8 9,2 2 | MF84 LF 840
4 8 9,2 3 | MF842Z LF 840 2Z
4 ] 103 | 25 | F684 FG18/8 F684 LF 940
4 g 103 35 [ F6B4ZZW35 | F618/9 LF940ZZ Y35 |
4 ] 03| 4 | FeB4ZZ FB18/10 F684 ZZ LF 940 ZZ
4 10 | 12| 3 [MF104 F618/11 LF 1040
4 10 | 112 4 | MF104ZZ F618/12 LF 1040 2Z
4 1 125 4 | F694 F618/13 F694 RF 1140
4 11 125 | 4 | F6942Z F618/14 FES4ZZ | RF 1140 ZZ
4 12 | 135, 4 | Fe04 RF 1240 i
4 12 | 135| 4 | Fe04ZZ RF 1240 ZZ
4 13 15 5 | F624 F624 624 RF 1340
4 13 15 5 | F624ZZ F6242Z F624 ZZ RF 1340 ZZ
4 16 18 5 | F634 F634 | F634 RF 1640
4 16 18 5 | Fe34zz F634ZZ | F634 ZZ RF 1640 ZZ
5 8 92 | 2 [ MFB5 LF 850 H
' 5 B 92 | 25 |MFB5ZZ LF8s0zz |
5 9 10,2 | 25 | MF95 | LF950
5 9 102 3 | MF952Z LF 950 ZZ
5 10 | 11,2 3 TMF105 LF 1050
5 10 | 112 4 [MF1052ZZ LF105022
5 11 125 3 | F685 FG18/5 F685 LF 1150 |
5 11 | 125| 4 | MF1152Z FE628/5 ZZ | F685/003 ZZ] LF1150 ZZ W 4
5 11 125 | 5 | F6852Z F638/5 ZZ | F6852Z LF 1150 2Z
5 13 15 4 | F695 FE19/5 F695 RF1350 |
5 13 15 4 | F695ZZ FB18/5 ZZ | F695 ZZ RF 1350 ZZ
5 14 16 5 | F605 RF 1450
5 14 16 5 | F605ZZ RF 145022 |
5 16 18 5 | F625 F625 F625 RF 1650 )
5 16 18 5 | F6252Z F625 ZZ F625 ZZ RF 1650 ZZ
5 19 22 6 | F635 F635 F635 RF 1950
5 19 22 |6 | F6352Z F635 2Z F6352Z | RF1950ZZ |
6 10 | 11.2] 25 | MF 106 - - LF 1060
6 10 | 1,2] 3 [MF1062Z LF 1060 ZZ
6 12 | 132 3 | MF126 LF 1260
6 12 | 132 4 | MF1262Z LF 126022 |
6 13 15 | 35 | F686 F686 F686ZZ | LF 1360 il
6 13 15 | 45 |FEB6ZZW 4,5 | F686 LF 1360 ZZ W54
6 13 15 5 | F6862Z FE86 ZZ | LF 1360 ZZ
6 15 17 5 | F696 FE96 RF 1560
6 15 17 5 | F696ZZ F696 ZZ RF 1560 ZZ
6 17 19 6 | FG06 RF 1760
6 17 19 6 | F606 2Z RF 1760 ZZ
6 19 22 6 | F626 F686 FB26 RF 1960
6 19 22 | 6 | F6262Z F626 ZZ F626 ZZ | RF 1960 ZZ




Microcuscinetti flangiati / Flanged bearings

D Df B TIPO SKF/ADR GRW NMB
(3] 11 | 122] 25 [ MF117 F617/7 | LF 1170
7 11 122 3 | MF1172Z F617/7 ZZ LF 1170 ZZ
7 13 | 142] 3 [ MF137 _ LF 1370
7 13 | 142 4 [ MF1372Z | LF 137022
7 14 16 3,5 | F687 F618/7 | FBA7 | LF1470
7 14 16 | 5 | Fe872Z F628/7 ZZ | F687 ZZ LF 1470 ZZ
7 17 19 5 | F697 F619/7 F697 LF 1770
7 17 19 5 | Fe97 22 F619/7 ZZ | F697 ZZ LF 1770 2Z
7 19 22 6 | F607 F607 F607 RF 1970
7 19 22 6 | F607 ZZ F607 ZZ F607 ZZ RF 1970 ZZ
T 22 25 7 | Fe27 F627 F627 RF 2270
L7 22 25 7 | Fe27ZZ F627 ZZ F627 ZZ RF 2270 ZZ
8 12 | 132] 25 | MF 128 F637/8 LF 1280
8 12 | 132 35 |[MF1282Z F637/8 ZZ LF 1280 ZZ
8 14 | 156! 35 | MF148 LF 1480
8 14 | 156 4 |[MF148Zz FG688A/142ZZ LF 1480 ZZ
8 16 18 4 | F688 F618/8 F688 LF 1680
8 16 18 | 5 |Fe88zz F628/8 ZZ | F688/003 ZZ LF 1680 ZZ
8 16 18| 6 |F68BZZWE F638/8 ZZ | F688ZZ | LF 1680 Y05
[ 8 19 22 6 | F698 F619/8 F698 LF 1980
8 | 18 22 6 | F698 ZZ F619/8 ZZ | F698 ZZ LF 1980 ZZ
B8 | 22 25 7 | F608 'F608 RF 2280 |
g | 2 25 | 7 |F60BZZ F608 22 | . RF 2280 22 |
9 | 17 19 4 | F689 F618/9 | F689 | LF 1790
8 | 17 19 5 | Fe89Zz F628/9ZZ | F6B9ZZ  LF 179022
9 20 23 6 | FB99 F619/9 F699 LF 2090
9 20 23 6 | F699 2Z F618/9 ZZ | F699 2Z LF 2090 ZZ
[ 9 | 24 27 7 | F609 F609 F609 RF 2490
9 | 24 27 7 | F609 ZZ F609 2Z F609 ZZ RF 2490 ZZ




Microcuscinetti flangiati / Flanged bearings

d D of B TIPO SKF/ADR GRW NMB
10 15 | 165]| 3 | F61700 FE1700 |
10 15 | 16,5 4 | F6170022Z F61700 ZZ r
10 19 21 5 | F61800 F&61800 F6800 _LF 1910
10 19 21 5 | F61800 ZZ F61800 ZZ | FE800/002ZZ LF 1910 ZZ ¥ 05
10 19 21 7 | F63800 Z2Z F6BD0ZZ | LF 191022
10 22 25 6 | FB1900 F61900 | F6900 LF 2210
10 22 25 6 | F61900 ZZ F61900 ZZ | F6900 ZZ | LF 221022
[T12 18 | 195]| 4 | F61701 | FB1701 ]
12 18 | 195 4 | F617012Z F61701 ZZ
12 21 23 | 5 | F61801 F61801 LF 2112
12 21 | 23 5 | F61801 ZZ F61801 ZZ LF 211222
12 21 23 7_ | F638012ZZ _
12 24 | 265| 6 | F61901 F61901 LF 2412
12 24 265' 6 | F619012Z FB1901 ZZ LF 241222
d D of B TIPO SKF/ADR KOYO
15 21 | 225 4 [Fe1702 F61702 FG702
15 21 | 225 4 | F6170222 F61702 ZZ FB6702 2Z
15 24 26 S5 | F61802 FE1802 | F5802
15 24 26 5 | F61802 ZZ F61802 ZZ F6802 ZZ -
15 24 26 7 | FB3802 ZZ F63802 22
15 28 | 305| 7 | FB1902 F61902 CFe902 |
15 28 | 305| 7 |[Fe1902ZZ FE1902 ZZ  FB9022Z |
17 23 | 245| 4 |F81703 F61703 | | F6703
17 23 | 245 4 "FB1703ZZ F61703 ZZ | F6703 ZZ -
17 26 28 5 F61803 F61803 | F6803 !
17 26 | 28 5 | F61803ZZ F61803 ZZ | FEBO3ZZ
17 26 28 7_ | FB63803ZZ F53803 ZZ
17 30 | 325| 7 | FB61903 F61903 _F6903
17 30 | 325 7 | F619032Z F61903 ZZ | | Fe003zZz
20 27 | 285] a4 | F61704 F61704 F6704
20 27 285 4 | FE17042Z F61704 22 ~ | Fe7042Z |
20 32 as 7 | F61804 | F61804 FB804 =
20 32 35 | 7 | F61804 22 | F61804 22 F6804 ZZ
20 32 35 10 | FE3804 ZZ | F63804 ZZ
20 a7 40 9 | F61904 F61904 F6904
20 37 40 9 | F61904 ZZ F61904 ZZ F6904 ZZ




Microcuscinetti flangiati / Flanged bearings

d D Df B TIPO SKF/ADR KOYO
25 32 | 34 ] a4 |[Fe1705 FE1705 | “F6705
25 32 34 4 | F61705 2Z F61705 ZZ | F6705 ZZ
25 a7 40 7 | F61805 F61805 F6805
25 37 | 40 7 | F61805 ZZ F61805 2Z F6805 ZZ
25 37 40 10 | FB3805 ZZ F63805 ZZ
25 42 45 9 | F61905 _ F61905 F6905
25 42 45 9 | F61905 2Z F§1905 ZZ F6905 ZZ
30 37 | 39 4 | F61706 F61706 F6706 I
30 a7 a9 4 | FB1706 ZZ F61706 ZZ F6706 ZZ
30 42 45 7 | FE1B06 F61806 FEB06
30 42 45 7 | FE1806 ZZ F61806 ZZ FEB06 ZZ
30 42 45 10 | F63806 ZZ F63806 ZZ
30 47 50 9 | F61906 F61906 FE206
|30 47 50 | 9 | F61906 22 F61906 ZZ FE906 ZZ
[ 35 47 50 | 7 |F61807 F61807 F6807
35 47 50 7 FE1807ZZ F618072Z FEBOTZZ
| 35 55 58 10 | F61907 F61807 F6907
35 55 58 | 10 | F61907 ZZ | F61907 ZZ FE907 2Z
40 52 55 7 | F61808_ | F61808 F6808
40 52 55 7 | F61808 2Z ' F61808 ZZ F6808 ZZ
40 62 65 12 | Fs1908 F61908 F6908
40 62 B5 12 F61908 ZZ FE1908 ZZ F6908ZZ |
45 58 61 7 | F61809 F61809 F6809 |
a5 58 61 7 | F61809 22 FE1809 ZZ FEB09 ZZ
45 68 71 12 | F61909 FE1909 | F6909 :
| 45 68 71 12 | F61909 ZZ F61909 ZZ | F6909 ZZ i
50 65 68 | 7 | F61810 F61810 | F6810
50 65 68 7 | F61810 Z2Z F61810 ZZ F6810 ZZ
50 72 75 12| FE1910 F61910 FE910
50 T2 75 12 | F61910 22 | F61910 ZZ F6910 ZZ




Microcuscinetti in pollici / Inch bearings

foro interno

gsterno D

spessore B TIPO

SKF

[0,0550 | 1,397 [ 0,1875 4,762 | 0,0781 1,984 | R1 A1 1397 Ai-3 R1706 |
0,1875 4.762 | 0,1084 2,779 | A1 ZZ R1ZZ 1397Z | RI-3ZZ | RF1706
[0.0781 | 1.984 | 02500 6,350 | 0,0937 2,380 | Ri4 X 5/64 S84 | R4 | R2508
02500 6,350 | 01406 3571 | R1-42ZZ | X5642Z | S4ZZ | RI4ZZ | RF2508
[0,0937 | 2,380 | 0,1875 4,762 | 0,0625 1,588 | R133 AX32 | 2380 AI-3332 | UL3006
0,1875 4,762 | 0,0037 2,380 | R1332ZZ | AX3/3222 | 23802Z | RI-3332ZZ ULZ3006
03125 7,938 | 0,094 2,779 | R1-5 X3/32 332 RIS 'R3010 |
03125 7938 | 01406 357\ | R\-5ZZ | X3/32Z2 | 33272 | RI-SZZ | RF3010
[0,1250 | 3,175 [0,2500 6,350 | 0,0937 2,380 | Ridd AX1/8 [ 3175 RI-418 | UL4008
~ 102500 6,350 | 01094 2,779 | R144 ZZ | AX1/8ZZ | 31752Z | R-418ZZ | ULZ4008
03125 7,938 01094 2,779 | R25 X178 1/8A RF518 | R4010
03125 7938 01408 3,571 | R2-52ZZ | X1/82Z | \BAZZ | RI-518ZZ | RF4010
03750 9,525 | 0,1094 2,779 | A26 RI-618
03750 9,525 0,406 3571 | R2-6 ZZ RI-6182Z
10,3750 6,525 | 0,1562 3,967 | A2 R2 1/88 R2 | RaD12
| 03750 9,525 | 0,1562 3,967 | R22Z R2ZZ 1/882Z | R-2ZZ | RF40102
05000 12.700| 0,1719 4366 | R2A R2A
05000 12,700] 0,719 4366 | R2AZZ | R2AZZ
[0,1562 | 3,967 | 03125 7,538 | 0,1084 2,779 | R155 X532 | 3967 RI5532 | UL5010
103125 7938 | 01250 3.175 | R165ZZ | X5/32ZZ | 3967ZZ | RI5532ZZ | ULZ5010
[03875 | 4,762 [0,3125 7,938 | 0,1094 2,779 | R156 AX3/16 | 4763A | RI-5632 | ULBO10 |
03125 7,938 | 01250 3,175 | R1S62Z | AXW/16ZZ | 4763AZZ | RI-563222 ULZ6010
| 03750 9,525 | 0,1250 3,075 | R166 | X316 | 47638 | RI-6632_ | UL6012
[ 03750 9,525 | 01250 3,175 | R1662ZZ | X3/16ZZ  4763BZZ | RI-6632Z7 ULZ6012
0,5000 12,700 0,1562 3,967 | A3 Yale | aleB R-3 AB016
05000 12,700 0,1960 4,978 | R3ZZ | Y3/16ZZ | AM6BZZ | R-3ZZ | AF6016
06250 15,875| 0,1960 4.978 | RIA B
06250 15875| 0,1960 4,976 | R3AZZ
[02500 | 6,350 [ 03750 9,525 | 0,1250 3,175 | R168 | Xu4 6350A | RI-614 | ULBDIZ
[ 0,3750 9,525 | 01250 3,175 | R1682ZZ | X1/4ZZ | 6350AZZ | RI-6142ZZ | ULZB012
05000 12.700| 01250 3,175 | Ries R188 63508 | RI-814 | ULBO1E
05000 12,700| 0,1875 4,762 | R188 ZZ | R188ZZ | 6350BZZ | RI-8142Z | ULZE016
06250 15875| 0,1960 4,978 | R4 Y1/4 14A  |R4 | RB020
06250 15875 0,1960 4,978 | RAZZ | Y1MZZ | VMAZZ | R-4ZZ | AFBO20
07500 19050 0,2188 5558 | R4A  R4A_ 174 | RL1214
| 0,7500 19,050| 0,2812 7,142 | RAAZZ | RAAZZ | 1MZZ RI-1214ZZ
0,3125 | 7.936 [ 05000 12,700| 0,1562 3,967 | R1810 [ 7938 | RI-8516 | UL10016
0,5000 12,700 0.1562 3.967 | 1810 ZZ 793822  RI-8516Z2 ULZ10016
'0,3750 | 0,525 | 08750 22.225| 0,2188 50558 | A6 LE I AI-1438 | A12028
08750 22225| 02812 7,142 | R6 ZZ Yaezz | aszz RI-1438ZZ RZ12028
10,5000 | 12,700 | 1,1250 28575 0,2500 6,350 | R8
11250 28,575 03125 7,938 | REZZ
06250 | 15,875 | 1,3750 34,925 02812 7,142 | RI10
| 13750 34925 03438 8733 | RI0ZZ
0.7500 | 19.050 | 1,6250 41,275 03125 7,938 | M1z i
16250 41,275 04375 11,113 R122Z




Microcuscinetti flangiati in pollici / Flanged inch bearings

foro interno

esterno D

esterno D1

mm inch i inch mm

spessore B TIPO

[o0550 | 1,397 [0,1875 4,762 [0,2340 5,944 | 0,0781 1,984 | FA1 FR1 F1397
0,1875 4,762 5944 | 0,084 2,779 | FR1ZZ FR1ZZ F1397 ZZ
|oo781 | 1,984 02500 6,350 [0,2860 7,518 | 0,0937 2,380 | FR1-4 FX5/64 | F5/64
0,2500 6,350 02960 7,518 | 0,106 3,571 |FR1-4ZZ |FXS/B4ZZ | F5/64ZZ
[0,0937 [ 2,380 [0,1875 4,762 [0,2340 5,944 | 0,0625 1,588 | FR133 |FAX3/32 | F2380
0,1875 4,762 0,2340 5544 | 0,0937 2,380 | FR133ZZ | FAX3/32ZZ| F2380ZZ
03125 7938 [0,3590 9,119 | 0,1084 2,779 | FR1-5 FX3/32 F3/32
03125 7938 |0,3590 9,119 | 0,406 3,571 | FR1-52Z | FX3/322Z | Fa/32Zz
(0,250 | 3,75 [0,2500 6,350 [0,2960 7,518 | 0,0037 2,380 | FR144 FAX1/8__ | F3175
02500 6,350 [0,2960 7,518 | 0,1094 2,779 |FR144ZZ [FAX1/8ZZ | F31752Z
03125 7,938 |0,3500 9,118 | 0,1094 2779 | FR2:5 FX1/8 F1/BA
03125 7938 (03590 9,119 | 0,1406 3571 |FR2-5ZZ |FX1/BZZ | FI/BAZZ
03750 9,525 (04220 10,719 | 0,1094 2,779 | FR26
03750 9,525 [04220 10,719 | 0,1406 3,571 | FR2-6 ZZ
03750 9525 [04400 11,176 | 0,1562 3,967 | FR2 FR2 F1/88
03750 9,525 (04400 11,176 | 0,1562 3,967 | FR2ZZ FR2ZZ F1/8BZZ
'0,1562 | 3867 [0,3125 7,938 [0,3580 9,119 [ 0,1084 2,779 [ FR155 FX5/32 | F3967
03125 7938 |0,3580 9,119 | 0,1250 3,175 | FR1552Z | FX6/322Z | F3967ZZ
0,1875 [ 4762 [0,3125 7,938 [0,3550 9,119 | 0,1084 2,778 | FR156 FAX316 | F4763A
03125 7938 (03580 9,119 | 0,1250 3,175 | FR1562Z | FAX3/16ZZ| F4763AZZ
03750 9525 [0,4220 10,719 | 0,1250 3,175 | FR166 FX3/16 F4763B
03750 9525 04220 10,719 | 0,1250 3,175 | FR166ZZ | FX3/16ZZ | F4763BZZ
0,5000 12,700 |0,5650 14,351 | 01960 4,978 | FR3 FY3N6 F316B
0,5000 12,700 [0,5650 14,351 | 0,1960 4,978 | FA3 ZZ FY3N6ZZ | F3M6BZZ
[02500 | 6350 [0,3750 9,525 [0,4220 10,719 | 0,1250 3,175 | FR168 FX1/4 'FE350A
03750 9,525 10,4220 10,719 | 0,1250 3,175 | FR168 22 FX1/4ZZ F63S0AZZ
0,5000 12,700 05470 13,894 | 0,1250 3,175 | FR188 FR188 FB3508
05000 12,700 [0,5470 13,894 | 0,1875 4,762 | FRI1BBZZ | FRI1B8ZZ | F6350BZZ
|0,6250 15,875 |0,6900 17,526 | 0,1960 4,978 | FR4 FY1/4 Fl/aA
06250 15,875 [0,6900 17,526 | 01960 4,978 | FR4 ZZ FY1M4ZZ = F1M4AZZ
[0,3125 | 7,938 [0,5000 12,700 [0,5470 13,884 | 0,1562 3,967 | FRIBID F7938
05000 12,700 |[0,5470 13,894 | 0,1562 3,967 | FR1810 ZZ Fra3azz
[03750 | 9,525 [0,8750 22,225 [0,9680 24,613 | 0,2188 5,558 | FR6 FYa/8 F3/8
0.8750 22,225 |0,9680 24,613 | 0.2812 7,142 | FR6 ZZ FY3/8ZZ | Fa/sZZ
10,5000 | 12,700 [1,1250 28,575 [1,2352 31,120 | 0,2500 6.350 | FR8
1,1250 28575 [1,2252 31,120 | 0,3125 7,938 | FRBZZ




